ECON 443 Labor Market Analysis Quiz #6
2005/6/28
1.
If a firm offers specific training to its workers, when the training is over,

A) workers will most likely be paid a wage that is equal to their marginal product.

B) workers will most likely be paid a wage that is greater than their marginal product, to compensate for the training.

C) workers will most likely be paid a wage that is less than their marginal product.

D) workers will most likely be paid a wage that is less than their wage before training.
Ans: C
2. When worker mobility costs are low, general training is usually paid for by

A) the employer.

B) the employee.

C) both the employer and the employee.

D) neither the employer nor the employee.
Ans: B

